

Division: Darling Homes Houston - Homebuilding

Community: Woodlands - Vue at East Shore

Lot Number: LOT 12 (200112)

Quote Number: Q-25842

Model: PLAN 1351 ELEVATION F (Elevation: F)

Buyer(s):

Co-Buyer:

Address: 8 Vue Cove Drive, Subfl-534*, The Woodlands, TX, 77380

Swing: Left

Date Printed: 10/04/2019

Product Code	Name	Qty	List Unit Price	Total Price
(Order #: 1)				
Category: Cab Acc-Other				
CCAO0350	CABINET-CLASSIC-REFRIGERATOR SURROUND FOR BUILT-IN REFRIGERATOR (DOES NOT INCLUDE APPLIANCE)	1.00	\$0.00	\$0.00
CCAO0204	CLASSIC-DRAWER GUIDEFULL EXTENSION-(WHOLE HOUSE)	1.00	\$0.00	\$0.00
CCAO1300	MOULDING TREATMENTS - CM4 CROWN	1.00	\$0.00	\$0.00
CCAO0191	CABINET-DOOR HINGE-SOFT CLOSE (WHOLE HOUSE)	1.00	\$810.00	\$810.00
CCAO0201	CABINET-DRAWER GUIDE-SOFT CLOSE (WHOLE HOUSE)	1.00	\$1,080.00	\$1,080.00
Category: Commodes				
COMM0040	COMMODE-PROFLOW PF5112HEWH-ELONGATED COMFORT HEIGHT-WHITE	5.00	\$130.00	\$650.00
Category: Cooktop / Range	top			
CTOP0025	CGU366P2MS1 - CAFE 36" GAS RANGETOP	1.00	\$0.00	\$0.00

Category: Dishwashers

DISH0010	CDT845P2NS1- CAFE STAINLESS INT. BUILT-IN DISHWASHER W\ HIDDEN CONTROLS	1.00	\$0.00	\$0.00
Category: Drop Box				
DRBX1000	DROP BOX - INCLUDES LOCK - MOCHA - DPDB-MOC /BLH-YEL - SELECT BLACK OR MOCHA	1.00	\$0.00	\$0.00
Category: Elec - LED				
ELED0270	ADD 1-6" LED FLUSH MOUNT WITH ADDTL SINGLE SWITCH. 43846WHLED30. WHITE FINISH. ADD 1 TO M. BEDROOM FOR A TOTAL OF 4 LIGHTS ON SINGLE SWITCH	1.00	\$240.00	\$240.00
ELED0250	ADD 1-6" LED FLUSH MOUNT ON EXISTING SWITCH. 43846WHLED30. WHITE FINISH. FIXTURE ONLY . INCLUDES BULBS. ADD 3 TO M. BEDROOM, 2 TO DRESSING AREA AND 2 TO M. BATH FOR A TOTAL OF 3 LIGHTS ON EXISTING SWITCH.	6.00	\$170.00	\$1,020.00
Category: Elec - Swtch &O	Putlet			
ELEC0160	ADD DOOR JAMB SWITCH - REPLACES EXISTING WALL SWITCH <i>ADD TO PANTRY</i>	1.00	\$180.00	\$180.00
ELEC0110	ADD FLOOR PLUG - PRE-FOUNDATION ONLY - INCLUDES BRASS TRIM ADD TO FAMILY ROOM	1.00	\$460.00	\$460.00
Category: Fireplace Box				
FRBW0002	EXTERIOR FIREBOWL - LYRA FIRE BOWL FBL-57LP - INCLUDES GAS LINE - MUST SELECT COLOR & FINISH <i>TRAVERTINE - BLACK SAND</i>	1.00	\$4,950.00	\$4,950.00
Category: Indoor Options				
COFF0001	COFFEE BAR INCLUDES - PER PLAN - SINK - SS2502	1.00	\$7,240.00	\$7,240.00
ELEV1000	OPT. ELEVATOR - CLASSIC MAPLE CAB INCLUDES SCISSOR GATES, 4 BRUSHED NICKEL LED LIGHTS, WOOD HANDRAIL, SS HALL FIXTURE. NOTE THIS OPTION REMOVES THE STORAGE AREA	1.00	\$30,210.00	\$30,210.00
FLRO2001	OPT ALTERNATE 2ND FLOOR PLAN - AS DRAWN ON PLAN	1.00	\$510.00	\$510.00
INTM1000	INTERIOR MODERN ARCHITECTURAL DETAILING - Convert Interior framed arches and/or eyebrow openings to square and drywall corners squared. Change does not include windows or doors. Review details at Pre-Construction meeting with construction manager. No architectural redraw	1.00	\$0.00	\$0.00

Category: Outdoor Kitchen

OKPL0001	PRE-PLUMB FOR OUTDOOR KITCHEN: PRICE INCLUDES GAS LINE, HOT AND COLD WATER, DRAIN FOR SINK. MUST BE LOCATED ON OUTSIDE OF BACK WALL OF HOUSE OR IN A COURTYARD. DOES NOT INCLUDE ANY ELECTRIC WHICH MUST BE SPECIFIED AND SELECTED SEPERATELY.	1.00	\$1,650.00	\$1,650.00
Category: Oven				
OVEN0030	CTD0DP2NS1 - CAFE 30" BUILT-IN DOUBLE CONVECTION WALL OVEN	1.00	\$0.00	\$0.00
Category: Plumbing A	ccessories			
WTSF0000	DUPURE - SINGLE STAGE FILTER W/STD SPIGOT - TO MATCH KITCHEN FAUCET FIXTURE COLOR.	1.00	\$0.00	\$0.00
Category: Stair Parts				
STLI0000	STAIR PARTS - LUXE INTERNATIONAL	1.00	\$0.00	\$0.00
Category: UPDATED	PAVERS			
EPXY1001	EPOXY SPECIALITY COATING - BALCONY. MUST SELECT COLOR AND PATTERN STYLE - LEVEL 4 PATTERNS ONLY 511 - OAK	2.00	\$0.00	\$0.00
Category: Vent Hood				
VENT0240	ZVC36LSS - MONOGRAM 36" CUSTOM HOOD INSERT This product must include the installation of a fresh air intake per applicable codes.	1.00	\$0.00	\$0.00
Category: Windows				
WNMB0001	WINDOW COLOR - MASTER BATH GLASS Window Color - Clear	1.00 1	\$0.00	\$0.00

(Order #: 2)

Category: Custom Building Envelope

- Ice Cube - SW6252 Stucco Accents - On the Rocks - SW7671 Trim, Garage 1.00 \$0.00 Doors - Peppercorn - SW7674 Roof - Moire Black Accent Color - Dark Night - SW6237 Brick - Meridian - Glenwood - Mortar - Gray (designer) Buff (Lux

(Order #: 3)

Category: Cab Acc-Glass Dr

CCAG0035	CABINET- GLASS DOOR PREP - LINEN CLOSET PER PLAN. GLASS SHELVES TO BE PURCHASED SEPERATELY 2 DOORS AT MASTER BATH LINEN	2.00	\$280.00	\$560.00
GLRD0006	CLEAR GLASS FOR LINEN CABINET- PER DOOR 2 DOORS AT MASTER BATH LINEN	2.00	\$220.00	\$440.00
GLRD0002	CLEAR GLASS FOR STACKED UPPERS PRICED PER DOOR-DECORATIVE - SELECTION REQUIRED CLEAR GLASS / 12 DOORS AT KITCHEN	12.00	\$95.00	\$1,140.00
CCAG0030	CABINET-GLASS DOOR PREP ON STACKED UPPER (DOES NOT INCLUDE GLASS). GLASS SHELVES TO BE PURCHASED SEPERATELY 12 DOORS AT KITCHEN	12.00	\$50.00	\$600.00
Catagory Cab Acc Other				
Category: Cab Acc-Other				
<i>Category: Cab Acc-Other</i> CCAO0391	CLASSIC-TRASH PULLOUT - DOUBLE AC128 1 AT KITCHEN ISLAND WITH SINK	1.00	\$465.00	\$465.00
		1.00 2.00	\$465.00 \$190.00	\$465.00 \$380.00

Category: Cab Trtmnt-Dr Style

CCTD1304	CABINET-1ST DOOR UPGRADE-MASTER BATH - PIGMENTED TOPCOAT DOOR STYLE: BRITTANY / MASTER BATH WITH LINEN & DRESSING	1.00	\$615.00	\$615.00
CCTD1302	CABINET-1ST DOOR UPGRADE-ISLAND ONLY - PIGMENTED TOPCOAT DOOR STYLE: BRITTANY / 2 ISLANDS	2.00	\$440.00	\$880.00
CCTD1303	CABINET-1ST DOOR UPGRADE-WET BAR - PIGMENTED TOPCOAT DOOR STYLE: BRITTANY / COFFEE BAR	1.00	\$395.00	\$395.00
CCTD1301	CABINET-1ST DOOR UPG-KITCHEN/BREAKFAST/BUTLERS (DOES NOT INCLUDE ISLAND) - PIGMENTED TOP COAT DOOR STYLE: BRITTANY	1.00	\$1,316.00	\$1,316.00

\$0.00

CCTW1300	CABINET-WOODHOOD-GROUP 1- PIGMENTED TOPCOAT (DOES NOT INCLUDE APPLIANCES) STYLE: WH04	1.00	\$1,755.00	\$1,755.00
Category: Cabs - Spec	ies			
CCSP6230	CABINET-CLASSIC-PIGMENTED-POWDER (FURNITURE) AVAILABLE IN TRADITIONAL/TRANSITIONAL/CONTEMPORARY. COMES WITH STD SINK PS7504 CABINET STYLE: TRANSITIONAL / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$250.00	\$250.00
CCSP6450	CABINET-CLASSIC-PIGMENTED FINISH-ALT KITCHEN ISLAND DOOR STYLE: SEE UPGRADE / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$250.00	\$250.00
CCSP6451	CABINET-CLASSIC-PIGMENTED FINISH-ALT KITCHEN ISLAND WITH SINK DOOR STYLE: SEE UPGRADE / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$250.00	\$250.00
CCSP6010	CABINET-CLASSIC-PIGMENTED FINISH-BATH 2 DOOR STYLE: LEXINGTON / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$195.00	\$195.00
CCSP6020	CABINET-CLASSIC-PIGMENTED FINISH-BATH 3 DOOR STYLE: LEXINGTON / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$175.00	\$175.00
CCSP6160	CABINET-CLASSIC-PIGMENTED FINISH-LOCKER DOOR STYLE: LEXINGTON / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$2,995.00	\$2,995.00
CCSP6170	CABINET-CLASSIC-PIGMENTED FINISH-MASTER BATH DOOR STYLE: SEE UPGRADE / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$275.00	\$275.00
CCSP6240	CABINET-CLASSIC-PIGMENTED FINISH-UTILITY OTHERS DOOR STYLE: LEXINGTON / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$1,240.00	\$1,240.00
CCSP6250	CABINET-CLASSIC-PIGMENTED FINISH-UTILITY UPPERS DOOR STYLE: LEXINGTON / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$190.00	\$190.00
CCSP6400	CABINET-CLASSIC-PIGMENTED FINISH-DRESSING AREA DOOR STYLE: SEE UPGRADE / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$195.00	\$195.00
CCSP6265	CABINET-CLASSIC-PIGMENTED FINISH-COFFEE BAR DOOR STYLE: SEE UPGRADE / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$450.00	\$450.00
	CABINET-CLASSIC-PIGMENTED FINISH-LOFT			

CCSP6445	DOOR STYLE: LEXINGTON / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$115.00	\$115.00
CCSP6455	CABINET-CLASSIC-PIGMENTED FINISH-ATL KITCHEN DOOR STYLE: SEE UPGRADE / COLOR: LONDON SKYLINE / FINISH: LOW SHEEN	1.00	\$1,210.00	\$1,210.00
Category: Cabs-Spec	cies-Add LF			
CCSL0085	CABINET-CLASSIC-ADD LF-STACKED UPPERS-PIGMENTED TOPCOAT 19 LF AT KITCHEN	19.00	\$280.00	\$5,320.00
Category: Ceiling Fo	ans			
ELCF0009	LEVEL 1- 52" STARKK 300173PN ILO OF LEVEL 1 1 AT FAMILY, 1 AT STUDY, 1 AT MASTER BEDROOM, 1 AT BEDROOM 2, 1 AT BEDROOM 3	5.00	\$0.00	\$0.00
	Material - Glass - BLADE COLOR: SILVER	5		
ELCF0140	52" RENEW SELECT 339516SBK PATIO CEILING FAN SATIN BLACK POWDER COAT. INCLUDES 3 SPEEDS, LIGHT KIT, REVERSIBLE BLADES, BULBS, EXTENSION ROD, WALL CONTROL. NO REMOTE. 1 AT OUTDOOR LIVING (1ST FLOOR), 2 AT COVERED BALCONY 1 (2ND FLOOR), 2 AT COVERED BALCONY 2 (3RD FLOOR)	5.00	\$335.00	\$1,675.00
	Material - Glass - BLADE COLOR: SATIN NATURAL BLACK	5		
Category: Custom				
CUST9610	Custom Tile Flooring SEE BUYER SELECTIONS REPORT & REDLINE FOR DETAILS	1.00	\$3,389.00	\$3,389.00
CUST9640	Custom Wood-Pre finished Engineered Glue Down SEE BUYER SELECTIONS REPORT & REDLINE FOR DETAILS	1.00	\$30,636.00	\$30,636.00
CUST9680	Custom Carpet SEE BUYER SELECTIONS REPORT & REDLINE FOR DETAILS	1.00	\$938.00	\$938.00
CUST9615	Custom Tile B/S SEE BUYER SELECTIONS REPORT FOR DETAILS	1.00	\$3,208.00	\$3,208.00
CUST9620	Custom Wall Tile SEE BUYER SELECTIONS REPORT FOR DETAILS	1.00	\$5,652.00	\$5,652.00
CUST9643	Custom Wood Stairs FULL WHITE OAK TREADS W/PAINTED RISERS / TREAD COLOR: MW 411 BIRCHBARK / RISER COLOR: TO MATCH TRIM	1.00	\$0.00	\$0.00
Category: Custom A	ppliances			
CUST1135	Custom Appliances MONOGRAM 1.2 CU. FT. DRAWER MICROWAVE - ZWL11266SJSS	1.00	\$1,260.00	\$1,260.00

CUST2230	Custom Cabinets CABINET-CLASSIC-ADD UPPER CABINET MOULDING ALONG BOTTOM-LIP AT KITCHEN (STANDARD)	1.00	\$0.00	\$0.00
Category: Custom (Countertops			
CUST2256	Custom Countertops <i>COUNTERTOP-CAMBRIA-LEVEL1-LOFT / COLOR: BERWYN / EDGE:</i> <i>SQUARE</i>	1.00	\$460.00	\$460.00
CUST2257	Custom Countertops COUNTERTOP-CAMBRIA-LEVEL 2-MASTER BATH TUB DECK / COLOR: SKARA BRAE / EDGE: SQUARE	1.00	\$2,650.00	\$2,650.00
Category: Custom I	Electrical			
CUST2629	Custom Electrical ADD ELEF1110, EXT GAS LANTERN, ROYAL RL-26G	3.00	\$1,655.00	\$4,965.00
CUST2631	Custom Electrical	1.00	\$0.00	\$0.00
Category: Custom I	Interior Specialties			
CUST1020	Custom Interior Specialties INTERIOR DOOR HARDWARE - ACCENT W/ADDISON TRIM / FINISH: SATIN NICKEL	1.00	\$850.00	\$850.00
CUST1010	Custom Interior Specialties FRAMED MIRRORS ALL STANDARD BATHS - MERCEDES - MASTER BATH (2) TO BE CENTERED ABOVE VANITY SINK(S)	1.00	\$0.00	\$0.00
CUST1023	Custom Stairparts WHITE OAK HANDRAIL / COLOR: MW 411 BIRCHBARK	1.00	\$0.00	\$0.00
CUST1021	Custom Stairparts LEVEL 2 METAL BALUSTERS / STYLE: P-21F / FINISH: SATIN BLACK	1.00	\$1,060.00	\$1,060.00
Category: Custom I	Paint			
CUST0994	Custom Paint - Add location and color selection in comments. PAINT-BASE- WHOLE HOUSE INTERIOR DOORS AND TRIM *Acrylic Semi-Gloss* / COLOR: SW 7004 SNOWBOUND	1.00	\$0.00	\$0.00
CUST0991	Custom Paint - Add location and color selection in comments. PNTA0020 - PAINT INTERIOR - UPGRADE - ACCENT WALL - ENTRY/FAMILY/KITCHEN *Latex Flat* / COLOR: SW 7641 COLONNADE GRAY / LOCATION: FIREPLACE WALL	1.00	\$550.00	\$550.00
Category: Custom I	Plumbing			
CUST1530	Custom Plumbing BAR SINKSTAINLESS STEEL-CARTHAGE-SS2505-UNDERMOUNT SINGLE BOWL 15 GAUGE 15 X 20 X 10 / 1 AT COFFEE BAR	1.00	\$350.00	\$350.00

SINGLE BOWL-15 GAUGE-15 X 20 X 10 / 1 AT COFFEE BAR

CUST1534	Custom Plumbing ADD SOFT CLOSE LID TO ALL TOILETS	5.00	\$35.00	\$175.00
Category: Custom Re-I	Draw Options			
CUST0000S534	CUSTOM PLAN S534 (1351F) 70059201-200112	1.00	\$0.00	\$0.00
Category: ENGINEER	ED COUNTERTOP			
CTPP1090	COUNTERTOP-MOUNTAIN TOP ENG STONE-LEVEL 1- BATH 2 COLOR: VANILLA SKY / EDGE: SQUARE	1.00	\$0.00	\$0.00
CTPP1100	COUNTERTOP-MOUNTAIN TOP ENG STONE-LEVEL 1- BATH 3 COLOR: VANILLA SKY / EDGE: SQUARE	1.00	\$0.00	\$0.00
CTPP1170	COUNTERTOP-MOUNTAIN TOP ENG STONE-LEVEL 1- UTILITY COLOR: VANILLA SKY / EDGE: SQUARE	1.00	\$480.00	\$480.00
Category: Elec - LED				
ELPL0120	ADD 1 LED 3000K WHITE PUCK LIGHT WITH SWITCH AND DRIVER. GLASS SHELVES TO BE PURCHASED SEPERATELY 1 AT KITCHEN STACKED UPPERS	[1.00	\$215.00	\$215.00
ELPL0125	ADD 1 LED 3000K WHITE PUCK LIGHT ON EXISTING SWITCH. GLASS SHELVES TO BE PURCHASED SEPERATELY 11 AT KITCHEN STACKED UPPERS	11.00	\$165.00	\$1,815.00
Category: Elec - Switcl	a Plate Cove			
ELSP0000	NOTE: SWITCH PLATE COVER COLOR <i>white throughout</i>	1.00	\$0.00	\$0.00
Category: Elec - Swtch	&Outlet			
ELEC0200	ADD LIGHTING PREWIRE - INTERIOR (WITH SWITCH) UP TO 50 LB FIXTURE 1 AT KITCHEN ISLANDS / WILL HAVE 2 LIGHTS AT EACH ISLAND	1.00	\$165.00	\$165.00
	ADD LIGHTING PREWIRE - EXTERIOR ON EXISTING SWITCH UP TO 50 LB FIXTURE	3.00	\$145.00	\$435.00

ELECTRIC FIREPLACE - HEARTH AND HOME

FPEL0060

SF-ALL60-BK 60". Price includes fireplace, electric,			
framing changes. No re-draw required. Location to be			
specified at Pre-Construction Meeting. Does not include			
mantel and facade. IN PLACING ON EXTERIOR WALL	1.00	\$2,650.00	\$2,650.00

Category: GRANITE

CTPG8000	COUNTERTOP-CAMBRIA-LEVEL 1-KITCHEN - 90" or more may require seam. COLOR: BERWYN/EDGE: SQUARE	1.00	\$1,520.00	\$1,520.00
CTPG8010	COUNTERTOP-CAMBRIA-LEVEL 1-ISLAND - 90" or more may require seam. COLOR: BERWYN / EDGE: SQUARE	1.00	\$4,730.00	\$4,730.00
CTPG9210	COUNTERTOP-CAMBRIA-LEVEL 2-COFFEE BAR - 90" or more may require seam. COLOR: SKARA BRAE / EDGE: SQUARE	1.00	\$1,380.00	\$1,380.00
CTPG8080	COUNTERTOP-CAMBRIA-LEVEL1-POWDER - 90" or more may require seam. COLOR: BERWYN / EDGE: SQUARE	1.00	\$410.00	\$410.00
CTPG9060	COUNTERTOP-CAMBRIA-LEVEL 2-MASTER BATH - 90" or more may require seam. COLOR: SKARA BRAE / EDGE: SQUARE	1.00	\$1,530.00	\$1,530.00
CTPG9250	COUNTERTOP-CAMBRIA-LEVEL 2-DRESSING AREA - 90" or more may require seam. COLOR: SKARA BRAE / EDGE: SQUARE	1.00	\$1,230.00	\$1,230.00
Category: Hardware				
HTRG0040	HARDWARE-TOWEL RING-CHROME-VOSS 2 AT MASTER BATH, 1 AT POWDER, 1 AT BATH 2, 1 AT BATH 3	5.00	\$10.00	\$50.00
HTBR0040	HARDWARE-TOWEL BAR-CHROME-VOSS 1 AT MASTER BATH, 1 AT BATH 2, 1 AT BATH 3	3.00	\$10.00	\$30.00
HPPR0040	HARDWARE-PAPER HOLDER-CHROME-VOSS 1 AT MASTER BATH, 1 AT POWDER, 1 AT BATH 2, 1 AT BATH 3	4.00	\$10.00	\$40.00
Category: INTERIOR	DOOR STYLE			
INTD0010	INTERIOR DOOR STYLE	1.00	\$0.00	\$0.00
	STYLE - MADISON	1		
Category: Indoor Optic	ons			
UTLY0001	PRE-PLUM HOT/COLD DRAIN FOR FUTURE UTILITY ROOM SINK - Does not include sink and cabinet.	1.00	\$1,185.00	\$1,185.00
Category: Interior Doo	r Trim / Hardware			
DRHW2164EXT	HANDLESET-ADDISON	1.00	\$60.00	\$60.00
	Finish - Satin Nickel (619)	1		

DRHW1177EXT	DEADBOLT-JD60	1.00	\$0.00	\$0.00
	Finish - Satin Nickel (619)	1		
Category: Interior Doors				
INTD1312	INTERIOR DOOR-ADD-SOLID CORE ILO HOLLOW CORE-SINGLE DOOR-2080	14.00	\$125.00	\$1,750.00
INTD1315	INTERIOR DOOR-ADD-SOLID CORE ILO HOLLOW CORE-SINGLE DOOR-2880	3.00	\$125.00	\$375.00
Category: Kitchen Sinks				
KSSG0060	KITCHEN SINK-SILGRANITE-BLANCO SINGLE BOWL-SG8505	1.00	\$480.00	\$480.00
	COLOR - TRUFFLE	1		
Category: Pendant Light	Fixtures			
LTPE0045	EVERLY PENDANT 42046CH. FIXTURE ONLY. INCLUDES BULBS. 2 AT EACH KITCHEN ISLAND FOR A TOTAL OF 4 AT KITCHEN	4.00	\$190.00	\$760.00
Category: Plumbing Acce	essories			
WTSF0010	UPGRADE DUPURE CLASSIC SERIES SPIGOT TO DUPURE CONTEMPORARY SERIES SPIGOT FINISH: CHROME	1.00	\$265.00	\$265.00
SHWR0000	NOTES ONLY: BATH SHOWER DOOR FINISH CHROME	1.00	\$0.00	\$0.00
GRBG0001	GARBAGE DISPOSAL - COUNTER BUTTON - STAINLESS STEEL OR BRONZE FINISH: STAINLESS STEEL	1.00	\$275.00	\$275.00
Category: Plumbing Fixt	ures			
KTFX0122	KITCHEN FIXTURE-ALIGN-5923 CHROME	1.00	\$180.00	\$180.00
WETF0110	BAR/PREP-ALIGN-CHROME-5965 1 AT COFFEE BAR	1.00	\$340.00	\$340.00
UTFX0120	UTILITY FIXTURE-ALIGN-CHROME-7565	1.00	\$340.00	\$340.00
TUBR2220	ROMAN TUB-VOSS-CHROME-T693 + 4796 1 AT MASTER BATH	1.00	\$90.00	\$90.00
LAVC2220	LAVATORY-VOSS-CENTERSET-CHROME-6901 1 AT BATH 2, 1 AT BATH 3	2.00	\$25.00	\$50.00
SHWF2220	SHOWER-VOSS-CHROME-T3692 + 3510 1 AT MASTER BATH, 1 AT BATH 3	2.00	\$75.00	\$150.00

LAVW2220	LAVATORY-VOSS-WIDESPREAD-CHROME-T6905 + 9000 2 AT MASTER BATH, 1 AT POWDER	3.00	\$150.00	\$450.00
TBSH2220	TUB/SHOWER-VOSS-CHROME-T3693 + 3510 1 AT BATH 2	1.00	\$90.00	\$90.00
Category: Ref / Freezer				
REFR0042	CSB42WSKSS - CAFE 42" BUILT-IN REFRIDGERATOR. MAY REQUIRE CABINET REDRAW	1.00	\$6,280.00	\$6,280.00
Category: UPDATED PA	VERS			
PAVD1001	PAVERS - BELGARD - DRIVEWAY-FULL - FORREST GREEN ONLY - DESIGN PATTERN - RANDOM BOND ONLY.	1.00	\$0.00	\$0.00
PAVR1003	PAVERS - BELGARD - MAIN ENTRY PORCH, TO INCL LOGGIA PER PLAN. FORREST GREEN ONLY. DESIGN PATTERN - STRAIGHT LAY ONLY	1.00	\$0.00	\$0.00
PAVR1008	PAVERS - BELGARD - DRIVEWAY - FORREST GREEN ONLY - DESIGN PATTERN - RANDOM BOND ONLY.	1.00	\$0.00	\$0.00
EPXY1002	EPOXY SPECIALITY COATING - COVERED PATIO. MUST SELECT COLOR AND PATTERN - LEVEL 4 PATTERNS ONLY 511 - OAK	1.00	\$2,775.00	\$2,775.00
Category: Utility Sinks				
USSS0010	UTILITY SINK-STAINLESS STEEL-SS2503-ALTO- 23 X 18 X 10	1.00	\$780.00	\$780.00
Category: Vanity Sinks				
VSPC0071	POWDER-PORCELAIN-TERRA-PS7505-WHITE	1.00	\$200.00	\$200.00
	COLOR - WHITE	1		
	STYLE - RECTANGLE			
VSPC0072	SECONDARY BATH-PORCELAIN-TERRA-PS7505-WHITE 1 AT BATH 2, 1 AT BATH 3	2.00	\$200.00	\$400.00
	COLOR - WHITE	2		
	STYLE - RECTANGLE			
VSPC0070	MASTER BATH-PORCELAIN-TERRA-PS7505-WHITE 2 AT MASTER BATH	2.00	\$200.00	\$400.00
	COLOR - WHITE	2		
	STYLE - RECTANGLE			

PNTH0010	PAINT-BASE- WHOLE HOUSE INTERIOR WALLS, CEILINGS, DOORS AND TRIM *Latex Flat* WALLS AND CEILINGS ONLY. SEE SEPARATE SELECTION FOR DOORS AND TRIM.	1.00	\$0.00	\$0.00
	COLOR - SW 7014 Eider White	1		
(Order #: 4)				
Category: Audio				
CODA0100	PRE-WIRE ONLY (1) ROOM OF STEREO & CONTROL STATION: (2) 16/2 CONNECTONE: QTY/LOCATION(S): (1) OUTDOOR LIVING, (1) BALCONY #1, (1) BALCONY #2	3.00	\$231.00	\$693.00
COHT0100	PRE-WIRE ONLY 5.1 SURROUND SOUND (2) FRONT SPEAKERS (2) REAR SPEAKERS (1) CENTER CHANNEL (1) SUBWOOFER LABELING & PLATES - ** LOCATION REQUIRED** <i>CONNECTONE: QTY/LOCATION(S): (1) FAMILY</i>	1.00	\$384.00	\$384.00
Category: Custom E	Electrical			
CUST2625	Custom Electrical CONNECTONE: QTY/LOCATION(S): (1) 1" FIBER CONNECTION CONDUIT FOR FUTURE AT&T CONNECTION WITH FIRE WALL	1.00	\$299.00	\$299.00
Category: Elec - Sw	tch &Outlet			
ELEC0060	ADD 110V DUPLEX OUTLET - NON DEDICATED CONNECTONE: QTY/LOCATION(S): (1) FAMILY RAISED FOR TV	1.00	\$85.00	\$85.00
ELEC0080	ADD 110V GFCI DUPLEX OUTLET EXTERIOR - (15 OR 20 AMP) - IF CUSTOMER ADDS MORE THAN ONE EXTRA ELECTRICAL CIRCUIT OF ANY SIZE, THE HOME SERIVCE MUST BE REPRICED VIA CUSTOM OPTION REQUEST FOR POSSIBLE ADDITIONAL CHARGES Not available on zero side of a zero lot line homesite <i>CONNECTONE: QTY/LOCATION(S): (1) OUTDOOR LIVING TV RAISED</i>	1.00	\$345.00	\$345.00
ELEC0050	ADD 110V DUPLEX OUTLET - DEDICATED (15 OR 20 AMP) - IF CUSTOMER ADDS MORE THAN ONE EXTRA ELECTRICAL CIRCUIT OF ANY SIZE, THE HOME SERIVCE MUST BE REPRICED VIA CUSTOM OPTION REQUEST FOR POSSIBLE ADDITIONAL CHARGES. CONNECTONE: QTY/LOCATION(S): (1) STRUCTURED WIRING PANEL CLOSET	1.00	\$280.00	\$280.00
Category: Security				
COAS0100	PREWIRE FOR FUTURE ELEVATOR **PREWIRE ONLY CONNECTONE: QTY/LOCATION(S): (1) PREP FOR PHONE IN ELEVATOR	1.00	\$193.00	\$193.00

ELEVATOR

COCA0100	(1) IP CAMERA PREWIRE ONLY : (1) CAT5E **LOCATIONS REQUIRED** CONNECTONE: QTY/LOCATION(S): (2) SEE CONNECTONE FLOORPLAN	2.00	\$116.00	\$232.00
Category: Specialty Wiring				
CODV0100	UPGRADE TO 28" ENCLOSURE CONNECTONE: QTY/LOCATION(S): (1) UPGRADE 14" PANEL TO LARGER PANEL	1.00	\$100.00	\$100.00
CODV0102	SINGLE CAT 5E OUTLET CONNECTONE: QTY/LOCATION(S): (1) WAP PREP, (1) STUDY	2.00	\$91.00	\$182.00
CODV0104	UNIVERSAL PROVIDER DATA & VIDEO COMBO OUTLET (1) RG6 QUAD (1) CAT5E CONNECTONE: QTY/LOCATION(S): (1) BED #3, (1) OUTDOOR LIVING	2.00	\$170.00	\$340.00
CODV0105	MULTI-MEDIA DATA & VIDEO OUTLET(2) CAT5E & (1) RG6Q <i>CONNECTONE: QTY/LOCATION(S): (1) FAMILY</i>	1.00	\$231.00	\$231.00
CODV0112	SPRINKLER SYSTEM INTEGRATION TO THE ALARM - PREWIRE CONNECTONE: QTY/LOCATION(S): (1) PROOFING HOUSE PER CODE	1.00	\$193.00	\$193.00
COCN0100	1.5" CONDUIT FOR FUTURE FLAT SCREEN (110v REQUIRED AT TV LOCATION) CONNECTONE: QTY/LOCATION(S): (1) FAMILY	1.00	\$131.00	\$131.00

Sub Total	\$171,717.00
Lot Premium	\$203,900.00
Base Price	\$1,100,990.00
Option Total	\$171,717.00
Incentive Given	\$0.00
Total Purchase Price	\$1,476,607.00

CANCELLED OPTIONS

Product Code	Name	Qty	List Unit Price	Total Price
Category: Cab Trtmnt-Dr	Style			
CCTD1206	CABINET-1ST DOOR UPGRADE-POWDER - MAPLE	1.00	\$0.00	\$0.00
CCTD1201	CABINET-1ST DOOR UPG-KITCHEN/BREAKFAST/BUTLERS (DOES NOT INCLUDE ISLAND) - MAPLE	1.00	\$0.00	\$0.00
CCTD1202	CABINET-1ST DOOR UPGRADE-ISLAND ONLY - MAPLE	1.00	\$0.00	\$0.00
CCTD1204	CABINET-1ST DOOR UPGRADE-MASTER BATH - MAPLE	1.00	\$0.00	\$0.00
Category: Cab Trtmnt-Wo	ood Hood			
CCTW1200	CABINET-WOODHOOD-GROUP 1- MAPLE (DOES NOT INCLUDE APPLIANCES)	1.00	\$0.00	\$0.00
Category: Ceiling Fans				
ELCF0001	LEVEL 1- 52" SUTTER PLACE SELECT 339211AP - PER COMMUNITY SPECS	1.00	\$0.00	\$0.00
	Material - Glass - N/A	1		
Category: Color Palette				
CLI40000	COMMUNITY COLOR PALETTE - INTERNATIONAL I4 Stucco - Ice Cube - SW6252 Stucco Accents - On the Rocks - SW7671 Trim,Garage Doors - Peppercorn - SW7674 Roof - Moire Black Accent Color - Dark Night - SW6237 Brick - Meridian - Glenwood - Mortar - Gray (designer) Buff (Lux	1.00	\$0.00	\$0.00
Category: Electric				
ELEF1110	EXT GAS LANTERN - ROYAL RL-26G	4.00	\$1,655.00	\$6,620.00
Category: Hardware				
HTRG0020	HARDWARETOWEL RING-BRUSHED NICKLE-BRANTFORD	1.00	\$0.00	\$0.00
HTBR0020	HARDWARETOWEL BAR-BRUSHED NICKLE-BRANTFORD	1.00	\$0.00	\$0.00

HPPR0020	HARDWAREPAPER HOLDER-BRUSHED NICKLE-BRANTFORD	1.00	\$0.00	\$0.00	
Category: INTERIOR DO	DOR STYLE				
INTD0010	INTERIOR DOOR STYLE STYLE - Per STD Specs - to be finalized at Design Center	1.00 1	\$0.00	\$0.00	
Category: Indoor Options	·				
DNRM0001	DINING ROOM. ILO STUDY	1.00	\$1,500.00	\$1,500.00	
Category: Interior Door 1	Frim / Hardware				
DRHW1177EXT	DEADBOLT-JD60 Finish - Per STD Specs - to be finalized at Design Center	1.00 1	\$0.00	\$0.00	
Category: Light Fixture H	Packages				
LTFX1130	LIGHT FIX PKG - BRAELYN OLDE BRONZE	1.00	\$0.00	\$0.00	
Category: Microwave					
MICR0010	CEB515P2NSS/JX9152SJSS - CAFE 1.5 CF CT CONV/M.WAVE - 27" TRIM KIT	1.00	\$0.00	\$0.00	
Category: Plumbing Acce	essories				
SHWR0000	NOTES ONLY: BATH SHOWER DOOR FINISH	1.00	\$0.00	\$0.00	
Category: Plumbing Fixtures					
TBSH0211	TUB/SHOWER-BRANTFORD-BRUSHED NICKEL-T2153BN + 2510	1.00	\$0.00	\$0.00	
SHWF0211	SHOWER-BRANTFORD-BRUSHED NICKEL-T2152BN + 2510	1.00	\$0.00	\$0.00	
LAVW0211	LAVATORY-BRANTFORD-WIDESPREAD 8"-BRUSHED NICKEL-T6620BN + 9000	1.00	\$0.00	\$0.00	
LAVC0211	LAVATORY-BRANTFORD-CENTERSET 4"-BRUSHED NICKEL-6610BN	1.00	\$0.00	\$0.00	

TUBR0211	ROMAN TUB-BRANTFORD 10"-BRUSHED NICKEL-T933BN + 4796	1.00	\$0.00	\$0.00
KTFX0131	KITCHEN FIXTURE-ARBOR-PULL DOWN-SPOT RESIST STAINLESS-7594SRS	1.00	\$0.00	\$0.00

Category: UPDATED PAVERS

PAVD1001	PAVERS - BELGARD - DRIVEWAY, TO BE SELECTED FROM APPROVED PUBLISHED BELGARD SELECTIONS. ADDITIONAL CHARGE FOR HORIZONTAL, MUST SELECT OPTION PAVH0001. COLOR VARIATIONS BY DEV. APP ONLY. HOLLAND CHARCOAL	1.00	\$0.00	\$0.00
PAVL1001	PAVERS - BELGARD - LEADWALK, TO BE SELECTED FROM APPROVED PUBLISHED BELGARD SELECTIONS. ADDITIONAL CHARGE FOR HORIZONTAL, MUST SELECT OPTION PAVH0001. COLOR VARIATIONS BY DEV. APP ONLY. HOLLAND CHARCOAL	1.00	\$0.00	\$0.00
PAVR1003	PAVERS - BELGARD - MAIN ENTRY PORCH, TO INCL LOGGIA PER PLAN. MUST BE SELECTED FROM APPROVED PUBLISHED BELGARD SELECTIONS. ADDITIONAL CHARGE FOR HORIZONTAL, MUST SELECT OPTION PAVH0001. COLOR VARIATIONS BY DEV. APP ONLY. HOLLAND CHARCOAL	1.00	\$0.00	\$0.00
EPXY1002	EPOXY SPECIALITY COATING - COVERED PATIO. MUST SELECT COLOR AND PATTERN - LEVEL 4 PATTERNS ONLY	1.00	\$ 2,775.00	\$ 2,775.00
Category: Vanity Sinks				
VSPC0010	MASTER BATH-PORCELAIN-WHITE-PS7504 Color - white Style - undermount	1.00 1	\$0.00	\$0.00
Category: WHOLE HOUS	E / ACCENT			
PNTH0010	PAINT-BASE- WHOLE HOUSE INTERIOR WALLS, CEILINGS, DOORS AND TRIM *Latex Flat* COLOR - SW 6105 Divine White	1.00 1	\$0.00	\$0.00

This system-generated *Proposal* is provided to a prospective buyer and/or its Broker/Agent outside of and not made a part of the Purchase Agreement: (1) all information as of the date indicated remains subject to change at any time without notice or obligation; and (2) is for illustrative and informational purposes <u>only</u> for preliminary discussions for prospective buyer's convenience. No guarantee or representation is made or implied as to availability, manufacturer, style, size, color, number, pricing and other factors installed in the completed home and/or subject to applicable incentives (if any) affecting pricing, all of which Seller reserves the right to modify. Refer to the <u>final</u> executed: Purchase Agreement and its attached Addenda (inclusive of any post-purchase amendments thereto) and the specific Community's Standard Features List for complete details. Equal Housing Builder.